M 375 HWI?
| Exercise131

Graph the following functions with the calculator.

a)y=5" b)y=101" o) y=(3)" d) y =0.97"
y=3" fly=(3)" guy=e¢  hy=001"
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Graph the given function. Describe how the graph is obtained by a
transformation from the graph of an exponential function y = b* (for

appropriate base ).

Va)y=0.1-4* Vb)y=3-2% vo)y=(-1)-2°¢
Vd)y=0.006-2"Ve)y=e* fHy=e"+1
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Sol:

Evaluate the following expressions without using a calculator.
c) log,(64) d) logs,(2500)

a) logz(49)  b) logs(81)
e) log,(0.25) ) log(1000) g) In(e?)  h) log,4(13)
) log(0.1)  j)logs(z5) k) In(1) 1) logi(8)

JA (féq)= (73_) = 2. .9037 07) =2 |=2
a) 37 %7(34) :q_.,ro?}LB) =4 :4

b) ﬂ»g S8 = 0‘33



&) g (69) = g () = 6-0ga0) =61 =6
d) 95350 (2508)= J)pggo (50) =2 ,Qogﬂ(m)s 2 (=2
e) 9"’8—2 (-0'25)2 Qt’az(ﬁ() = 9‘@2(2—-2> = "2'1052_(2,) == = 2.
’F) 9&8 ([00(‘)) = Q‘%ID((OB) = B-JAJ(b((O) =3 (=3

0) (@) = & @=g41=¢

M %8[3 (12) = | \

E) &ba (o)) = &A%mu 0_‘> - _\'ﬂ‘aco((g‘: —{=-l

J) “ng"' (—3-,@ = Q"ZG (6 ): 2 9435(9 =2 ==

¢y Iy = &N\&ﬂ(eo)ia?'%(ejoa o |= O.

L - 2(2—):3' 1 )= = =-3
&> ng'i (8) 4\3 3_l 3) . gz )
8:2 = 2\3 = L—;)

Using a calculator, approximate the following expressions to the nearest
thousandth.

a) 10g3(50) b) 10g3(12) C) 10g17(044) d) ]0g034(200)
=3,560 =2,26| = —0.28’1 = -4.9]



State the domain of the function f and find any vertical asymptote(s)

and z-intercept(s). Use the results to sketch the graph.

a) f(z) = log(x) fz) = og(x+7)
¢) f(x)=In(z+5)—1 f(a:) = In(3z — 6)
e) f(x) =2 log(x +4) f) f(x ):—4 log(z + 2)
g) f(z) =logsg(7x+5)  h) f(z) =In(—6x + 14)
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£) foo= —Lp-hg (e2) = X230 DX>2 ) = Jug} (xt5) = Pxt5>0
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